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4 (a) In the diagram,

|BC| = |BD| and ∠ =ABD 118o.

(i) Find x.

(ii) Find y.

(b) Prove that if three parallel lines make intercepts of equal length on a transversal,
then they will also make intercepts of equal length on any other transversal.

(c) (i) Draw a square OABC with side 4 cm and label the vertices.

(ii) Draw the image of the square under the enlargement with centre O and scale
factor 2.5.

(iii) Calculate the ratio
area of image square : area of original square.

(iv) Another square, OPQR, is the image of the square OABC under a different
enlargement with centre O.
The area of OPQR is 324 cm2.
Calculate the scale factor of this enlargement.

ANSWERS

4 (a) (i) 62o (ii) 59o

(c) (iii) 25:4 (iv) 4.5
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